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Let a total charge 20 be distributed 1n a sphere of radius R,

with the charge density given by p(r)= kr, where r 1s the

distance from the centre. Two charges 4 and B, of — Q each,
are placed on diametrically opposite points, at equal distance
the centre. If 4 and B do not expenience any force,
(Main 2019, 12 April I1)
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['wo point charges g, (v 10 uC)and g, (= 25uC) are placed

on the x-axis at x = Imand x = 4 m, respectively The electric

field (in V/m) at a point y = 3m on Y -axis 1s
(Main 2019, 9 Jan II)
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Charge 1s distributed within a sphere of radius R with a

A — 5:}1—60\'

volume charge density p(r)=—e ¢ , where 4 and a are N
-

constants. If O 1s the total charge of this charge distribution,

— )
the radius K 1s d9" - Q

(Main 2019, 9 Jan Shift)il)
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['hree charges +0, ¢, + Q are placed respectively at distance

d e , . .
0, — and d from the origin on the X -axis. If the net force

-~

experienced by 1 O placed at x = 01s zero, then value of g is
(Main 2019, 9 Jan Shift 1)
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I'he region between two concentric spheres of radi @ and b,

respectively (see the figure), has volume charge density
A

p = —, where, A4 1s a constant and » 1s the distance from the
”

centre. At the centre of the spheres 1s a point charge Q. The

value of A, such that the electric field in the region between the

spheres will be constant, 1s (2016 Main)
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Consider an electric field E = E, X, where £, 1s a constant.
['he flux through the shaded area (as shown n the figure) due
to this field 1s (2011)

0-0)f+ -3

‘t@ 0\(-

I LAKSHYA KO HAR HAAL ME PAANA HAI



A point dipole p= - p, Xx1s kept at the origin. Th¢ potential

and electric field due to this di;mlc on the Y-axis at a distance
d are, respectively [ Take, V' = Oat infinity|
(Main 2019, 12 Apr 1)
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Determine the electrnic dipole moment of the system of three

\l].‘i'.'\'\. i‘[.l\ \'\’ Ol '?l\' \

shown 1n the hgure
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An electric field of 1000 V/m 1s apphied to an electric dipole

at angle of 45°. The value of electric dipole moment 1s 10

C-m. What 1s Iluul' the electric dipole?
(Main 2019, 11 Jan i)
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